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Theorem 2.2.25. Let K = Q(«v) a number field with m,(x) = 2™ +ax +b. Then

n(n—1)
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Corollary 3.5.11. Let K be a number field of degree n over Q and let o« € Ok be a B

primitive element so that K = Q(«). —S Gze 4§ Hu gt ot
{\Qd-ljtabe aprzmgzbir not dwufng [(?K : Z_[a]] a:zd let %/ e oloclin ﬁdﬁl
o () = 7 (@)1 7 (1) 2545 =
be the reduction modulo p of the minimal polynomial m. sf ov. Then in O the ideal e
(p) factorizes as{w (M . > YF <o J(Zafo‘a\ mbo e
i@e i fals (p) = lj[lp el pdge v f[F, (2f
where p; = (p,mi(a)) and fp,, = deg(n;) and e; = ey, ). o
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